—16.1/02
—16.2/02

16.3 /02 IlepeyeHb OCHOBHBIX JIeTAJIeil M Y3J10B

YTBepxnawo
TexHuuecKuil TUPEKTOp
Amnncenkos O.A.

1 ucnoauenue. MHUHU-/IPpECIN 3HeKTpI/l‘leCKOﬁ

M3/1-1 M® (2 penaknusi)

“« 2010r.

16.1

16.2

22
21

B3anMo3aMeHsieMble y3JIbl 2X-HMCIOJTHEHU
Hcnonnenne-01 Hcnosnenne-02
Komrexr: Kommexr:
- Brynka-3arnymka - Brynka-3arnymka
pe3sboBas M10x1 pe3sboBas M11x1
-lleTkonepxarens -lleTkoaepxarenb
-Kopnyc mwerkonepxkarenss | -Kopnyc merkonepxarenst
M10x1 Ml1xl
Ios. HaumeHnoBaHue Kou.
11 Ilerka (4,8x5,4x8) 2
12/01 IleTkomeprxarenp 2
12/02 IleTkomepsxarenp 2
HanMcHOBARME Koo 13/01 Kopnyc merkoaepxarens M10x1 2
3 101 Tlonypyuxa npasas 1 13/02 Kopmyc mierkoaepxatens M11x1 2
2 1/02 Tlonypy4ka mpaBast 1 ] 51;(1)1 gTaTOp 1
2 BunT (camopes) 3x4 6 ONypyHKa Jesast 1
3 Kpiok 1 15/02 IMonypyuka neBast 1
4 Cereroi muyp 1 16/01 Ddukcarop B coope 1
5 Tpy6ra sammTHas 1 16.1/01 | xHOmKa (puKcaTopa 1
6 ey — 1 16.2/01 | nmactuHa 1
7 broxk perynsTopa ckopocTu 1 16/02 Puxcatop B cbope 1
8 Jpocces ) 16.1/02 | kHonka dukcaropa 1
B3anmo3aMeHsieMble y3J1bI 2X-HCIOTHeHHi 9 Pasbem 2 ig;?g; Ezﬁ;iiz i
- - 10/01 | Brynka-3armymka pe3sboBas M10x1 2 -

Hemomnene-01 Henonneniie-02 10/02 | Brynka-3armymika pe3pboBas M11x1 2 17 Hopmmmrrk 626 Z (6x19x6) 1
Kommekr: Kommuekr: 18 SIkopb 1
- ®ukcarop B coope 1m.16/01 | - Guxcarop B coope 11.16/02 19 Homuunuuk 698 Z (8x19x6) 1
- [onypyuka npasas n.1/01 | - [lonmypyuka npasas 1.1/02 CornacoBaHo: 20 Laxra 1
- [lonypyuxa nesasd n1.15/01 | - ITonypyuka neBas 11.15/02 WHxeHnep-KOHCTPYKTOP ITerpos B.I. 21 Brynka 3axumHas 1

I'maBHBII TEXHOJIOT Kynpsios JLA. 22 Bryika nbutesamuTHas 1




	мини-дрели электрической

